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General Instructions: -

. This question paper consists of 38 questions, which are divided into

four sections: A,B,C,D.

. All the questions are compulsory.

. Question no 1 to 20 of Section A. Each question carries 1 mark.




4. Question no 21 to 29 of Section B consists of nine very short answer

type questions. The answer to each question may be given in about 30
words. Each question carries 2 marks.

5. Question no 30 to 35 of Section C consists of six short answer type
questions. The answer to each question may be given in about 80
words. Each question carries 4 marks.

6. Question no 36 to 38 of Section D consists of three long answer type
questions. The answer to each question may be given in about 200
words. Each question carries 6 marks. Question no 36 will be answered

with the help of given passage.

T 9. LK 3
AT — 1
Section- A
1 | SATSTAT & S SANTET Fid FT STATRA g 2 1

(31) 1789 - 1857
() 1757 - 1889
(3) 1857 - 1979

(8) 1785 - 1855

What is the lifespan of August Comte, the father of sociology?
(a) 1789 - 1857
(b) 1757 - 1889
(c) 1857 - 1979
(d) 1785 - 1855




TR Tl T g AT I9T AT ?

(1) \TEq

() T

() wi

(%) sTATEH

Which country was the centre of the Industrial Revolution?
(a) India

(b) England

(c) France
(d) America

1948 ¥ ITHIT T T STeqAT Tohefeh g1 6T 17 ?
(=1) =t . qasit

() ZETw

(F7) =T

(%) Ta.TA, ffFar

Who studied Rampura village in 19487

(a) D.P. Mukherjee

(b) Durkheim

(c) Charles Cooley
(d) M.N. Srinivas

Khasiis @....covveevmeveeenennne ?

9TTh T I TI=T FAT & ?
(1) TSI &

() 7T

() ATqEATHE TRAT
(%) FETAT

What is the legitimate form of power?
(a) political party

(b) power

(c) Matriarchal family

(d) sovereignty




TRET it a8 GEAAT SaH ATTHR S TTA e EIE)
&l foge Fgerdt 2 2

That structure of the family in which authority and dominance rests

with............ is called patriarchy ?

TR M AT ?

(1) =T

EERIEEIEET

(&) T

GEEKCEL

Which of the following is the type of education?
(a) formal

(b) informal

(c) political
(d) Both Aand B

FAT T 31 L ?
Fgfaare =af<h &1 UF 9T § TF q0d AT TAT Al Taaiad Har g

Correct the statement?

Polygamy restricts a person to one spouse at a time.

AT HEh d T SaTe 0 MH § H 751 § ?
(ar) fo=me

() ATEAT

() a¥

(%) femar

Which of the following is not an example of non-material culture?
(a) thought

(b) emotions

(c) religion

(d) book

10

FAT HT ST FY -
T ILEILT gLt FHTSI § G0 ST ¢

Correct the statement -

Small tradition is found in urban societies.




A comprehensive survey that includes every member of the

population is called........................ ?

12 | T A IFR AT AT HEAT S ?
CIRIRIEED
() Fera®
GIRERIRE
GEERS:
Which of the following is the type of Data ?
(a) primary
(b) tertiary
(c) secondary
(D)AandC
13 | 9 ATATSE i S Argme 9% =i<hal i T3gi & 3g a1 7%
weata uTe gieT 8, FeATdt g ?
HTHTISTR TALIRTOT / ATHTISTE S
The social system on the basis of which individuals and groups get
higher or lower status is called ?
Social Stratification/Social Structure
14 | AT 7 A 6T TR, STATEH 6 ATga] F THH] il STH AT Rl

FETE?
FATT [ W

What did Marx call the indifference of workers towards the nature
of work and the means of production?
Alienation / conflict




15

T STTT ol ST ohee & o ?

(1) TrHTERTHT

CIEUREL]

() ghEm

(=) AT

Who gave the concept of Dominant caste?

(a) Ramaswami
(b) Srinivas
(c) Durkheim

(d) Marx

16

2011 T STRTOATHTT AT i fhaet STaerd STeeedT Tl o
e w8 ?

(31) 68.84

(¥) 31.6

() 78.74

(%) 36.78

According to the 2011 census, what percentage of India's population
lives in Rural area ?

(a) 68.84

(b)31.6

(c) 78.74

(d) 36.78




17 | Ot e o T € e ieed g ?
(37) TrSTEITH
(=) g
() IaEE
(%) TerTd
Chipko movement is related to which state?
(a) Rajasthan
(b) Haryana
(c) Uttarakhand
(d) Gujarat
18 | fa=TT= T 917 omaT ST /79a ¥ &l ATIRE 7T ST o T T
HEIAT FLAT &, FgeATdl & 2
The branch of science which studies the type of human race by
measuring the human body is called?
19 | T UHET T A NS @ q® & o@® Hid g ?

(3T) T HTFH
() 7T

() FFE 9@
() g

Who is the author of the book 'The Elementary Forms of the
Religious Life?

(a) Karl Marx

(b) Merton

(c) Max Weber

(d) Durkheim




20

STt = e Gy e 2 g ?
(&) Str.uH. g
() WA, ZATE

(%) ST, Tt

(%) TH.UA. fifFame

Who called the tribes backward Hindus?
(a) G. S. Ghurye

(b) A.R. Desai

(c) D.P. Mookerjee
(d) M.N. Srinivas

AW T -2
Section-B

21

FIHAST AT FT g ?

What is empirical investigation ?

22

T § T I § 7 S| 9T FTarsy |

What is meant by role? Explain with examples.

SEEL

spfoeT e /T § 2 SeTger afd aarEy |

What is role conflict? Explain with examples.

1+1

23

TATSA TETH & AET g9 FAT & ?

What is religion according to Emile Durkheim?

24

qreTere fafd i :rg <1 e

Write any two types of interview method.

1+1




25 | AR HT § ? THGARN FAATHT 6 1 H qqT2d| 1+1
What is observation? Explain about non participant observation.
9T
HAATH AT g ? AGHAGHTT STAATRT % T & T8
What is observation? Explain about quasi participant observation.
26 | SRR FTE | 2
What is Competition ?
9T
Y 4T |
What is Conflict?
27 |SfeFEFTE? 2
What is evolution?
28 | ATHReTEt AT T IS & AT FATEA 1+1
Mention any two features of bureaucratic system.
29 | I H T IAHAAE ? 2
What do you understand by tradition?
T -3
Section - C
30 | T ¥ GHTSIATE % STEAIT hi s AT ATGLTHATT AT ? 1+1+1+1

Mention any four requirements of studying sociology in India?

SEELE

HTSILTE & 5 9 faaTe § Ggq it @ JeTal T 9 hiord |

Describe the major events that contributed to the birth and

development of sociology?




31

ek THTSI it srefeaeT it Hgea Ul (FANATY HI7 Rt g ?
Ieag o

What are the important features of the economy of modern
societies?

EREN
TTHYOT FHTST T Srefeqaed T it Agcaqul [Ar9dqTd FF HITEt § ?
Ig Hiform)

What are the important features of the economy of Rural
societies?

1+1+1+1

32

TSI fha Fga § 2 TATSHERLOT & THE STTNRT0r Farsy |

What is socialization? Mention the main agencies of socialization.

1+3

33

3fen o g T § 2 TaiEsor TEuer F e TR qHEey |

What is global warming? Explain the main types of environmental pollution.

1+3

34

AT T 4T § 2 TEIH & QAT JiTAd TaH Araaqdt THal § i<
THAATEY |

What is social fact? According to Durkheim, explain the difference
between mechanical and organic unity.

35

T, 3R, TETS AT FATHT T FiF T @ fALrearei &1 quia #:3)

According to Desai, describe the main features of a welfare state.

RT—4
Section—-D

T HEAT 36 | 38 EH IAUHS ¢ T YA TUeh & & faa® &
HATETT I FY -

Question numbers 36 to 38 are long answer type and should be
evaluated at the discretion of the examiner.




36

T ¥ft Ty e &9 Wi 19 € T Y wA €9 & wgEy T)t
B0 5l TS TYE AT SaH & s T&Il H TATAT FLd § Sl gd gad &
Fafre ATgad § ATd g1 "ITAAT 99g' § a7 AN § UF S aqg 4§
ST 9RE, AWA-AHT F AA-FET i 989 T R g 81 e
TG & gaeq] § THh-gas o Gafad giv it ATaT gidl gl TRAT, I i
=t % Teg wreAE gl ST

oo aE S § SeTHd 93 i & S ITH =T T
FAafed Gy gra 1 Srafie ayg = S@ gia 8, wia i fadias ag
we 3@ faerer, qrd wrate, srerard, s e ot fedes avggt
& IIEL &

IO IR 3R FF Sitaq Hit 9 g i agdt sfaq /@
S+ fAfSw il |94l ik Staa-9eft F A 9% qoar F 4T HT
= el qaTSTeTREt F W@ d AT o AT g1 9HE ¥ qredd 59
AT 9ael & § ST 9ga Afed 3aies, 7y s Rreewrft g §, S|t
TF Ah hf WEE 99 A= e & uisa 998 § 9o g IRaK
fSraeft 7= g wEmagl BT &)

ATST AT G F qId g€ a<g 9 99arT & Audq g faQwa:
e AT S F T Faqihs, A i< STl Heen| arforsy
#IT IR it AGIHaAT I8 § 6 T e F7 FAagR @ e § 9971-
g, FeET T S Rt F SgE q g TE-gEl A S A o
FL SAYAT GHATAT FLA g1 AT FHI S ATAMAF qHg &l GA q19
qHd & Sl 99 9 fadias g i g9qed 919 99d g

T8 g 6 WTEAT 3(d: TYE Hl I STl gl Ig WTaAT g
T H I IR AYAT T F FAT FAT Bl T TheA § UgA a1 9, S A
¥ TE UBT T I F (%G TF I YU T A 31 FT A9 Y ey
R AR F R F A T § @ QAT UF a0 w0 9w A @
S ©@ s g F 997 Gafdq T8 qrdl TF 91g] 9Hg b el B
3 IYE & GaEdl At A F WAGHe GG FT ATHAT FAT I8 THaT g
AT & AFAT ST THE AT SITar gl gt qgi o #1 gaiaa §
A ®IF GETq Gl il areqras GIRNTHT G0 S GTATOG &A1 & iy
T gt gl

st g e wga g ?
I TG ?
;G T IgAT ¥ Tl 5 ?
T &l T SHTT AT ST 9T g ?
TR[ Y F S
I

o u ke wNPR

B N T T N N N




Not all the groups to which we belong are equally important to us. Some
groups influence many aspects of our lives and bring us into personal
association with others. 'Primary group' refers to a small group of people
who are linked by close, face-to-face interaction and cooperation.
Members of primary groups have a sense of belonging to each other.
Family, village and group of friends are examples of primary groups.

Secondary groups are relatively larger in size and have formal and
impersonal relationships. Primary groups are person oriented, while
secondary groups are goal oriented. Schools, government offices,
hospitals, student unions etc. are examples of secondary groups.

The idea of comparing the old traditional and agrarian life with
the new modern and urban life on the basis of their different social
relations and life-styles leads to the writings of classical sociologists.
Community refers to those human relationships that are highly personal,
intimate and enduring, where a person's participation in true friends or a
close-knit group, although not as important as a family, is important.

The meaning of society or association is in every way the opposite of
community, especially the obviously impersonal, external and temporary
relations of modern urban life. The need of commerce and industry is that
the behavior of one person with another should be measured, rational and
according to personal interests. Instead of getting to know each other, we
make agreements or compromises. You can consider community and
primary group as equivalent and association and secondary group as
equivalent.

The feeling of belonging creates in-group identity. This feeling
separates us or us from them or them. Children studying in a school may
form an in-group against children not studying in that school. Can you
think of any other such groups? In contrast, an outgroup is one to which
members of an ingroup do not belong. Members of an out-group may face
adverse behavior from in-group members. Immigrants are often
considered an out-group. However, here too the actual definition of who
does and does not belong varies over time and social contexts.

1. What is called primary group?

2. What is community?

3. How is in-group identity formed?

4. What can the Sangh be considered similar to?
5. Give examples of outgroup?

6. What can the community be considered equal to?

B N Y. T N N N




1. HEIN ST Ha 2+2+2
2. FAF UF qragEt THdl
3. gSfame
What is cooperation? Explain division of labour.
Or
Make a comment -
1. Cooperation and conflict
2. Mechanical and organic unity
3. Capitalism
38 | T &A1 it ATHTIE TIEAT TAT ITH G GTATIOE TRAAAT BT q0T 2 +4
oy
AT
feoqofy w% — 2+2+2
1. wWig e
2. HEHT
3. T OREE

Describe the social system of urban areas and the social changes taking
placein it.
Or
Make a comment -
1. Mass transit
2. Ghettoization
3. Gated Community
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MARKING SCHEME
9 2024 - 2025

T fAder : -

1. 3 TISET AT 3297 JoAToh &l ATAHITEF TEqHE T gl 3% TroHT H &7 [T 39 sifaq

Tl & | I GATATHF TaH Hihias gl Tia Trareff § 379 o ar {9, 73 95! I1 37
S 33T 8, a7 39 S & fau S

The objective of the marking scheme is to make evaluation as objective as possible.
The answers given in the marking scheme are not final. This is suggestive and
symbolic. If the candidate answer differ than given answer but it is correct and
appropriate, marks should be awarded to student.

. T, 9F, AT F qElE ST &l TATART ATHTT [&U ST
Correct, righteous, meaningful and accurate answers should be given due
weightage.

. TeATT T ST F AqET Far I forae ¥ 3% quites fIw s

Full marks should be given to the candidate for writing the correct answer as
expected.

. Faanra et va i i feufa § stfer st e aieareff #1 ertaa 91 #
Do not encourage the candidate by giving more marks in case of spelling mistakes
and digression.

. Tg-aHoTH T — TS T T &7 9= 36 70 g JAT A1 § F UF Aol a°7 UF TAd § ar
LT AT TATE & Tl ST A gU 3 (&7 S0, i af T o 3¢ &1 ey 981 147 §
IT TAT I T FTET AT g a1 off TET 3T T &A1= | T@d gu 3 {2 o)

Multiple-choice questions — If the candidate has made two attempts and one of
them is correct and one is wrong, then marks will be awarded considering the
correct option as the right answer, and if no answer has been struck off or even
both if the answers have been crossed out, marks should be awarded keeping in
view the correct answer.

. TEET HEA-TEeAwT [ IT-areAwt & Haer G Smar g & 39w qitawrst w1 gedie

T T IAL TUIGAT A qTAT STTAT 8 T Ted 39T A (x) a2 ‘0’ 3 JaT+ 36 ST




10.

11.

12.

All the Chief-Examiners/Sub-Examiners are instructed that while evaluating the
answer sheets, if the answer is found completely wrong, then the wrong answer
should be marked (x) and given '0' marks.

FESACHE TeAi § o 21 ey, &g @ g afw altardt 7 a1 g e o g, A
o= &g o g w8 #rE off 31 9t g1 ar o 37 92t 7 a3 1 98t A g oF
faw 5 |

In short answer type questions in which two points are asked, if the examinee has
written both the points correctly, or has written five points out of which any two

are correct, even then marks should be given considering two correct and
appropriate answers as correct.

ATATE TAT SFHATT F(E T TT % I T ToATheT ST AT TAT Siehame 2t BFham st
AT, ST AT et 7 a5t 397 73T g, 39 907 gq Meifa qur &% vae & S |
FUITCHE TEAT o I AT il THT TLEAF AT TAARTTAT T FT ThaT § T TLrarit

T THRTLTCHS 3T (33T ST |

The answer to the question paper distributed part-wise and number-wise should
also be evaluated part-wise and number-wise, full marks should be awarded for
that part for which the candidate has given the correct answer. While checking the
answers to the descriptive type questions, the examiner can mark according to his
discretion, but the candidate should be given positive marking.

TTOT-&THAT TS AT {h- FT9e T2 a1 fgT S|

Attention should be paid to language-ability and expression-skills.

HA-T&®T | IT-TLTqHT Al I [RAHTN FT qeATHT F2d & (0 Fae g =aer/
AT IUee FTATAT ST 72T 8, e qearahd e § et yame &7 fe g1, 3¢ #q= a7
g1, ST g & f3U 10 ST & ST g7 ar qiierd, e e ¥ fA=n- Al w39 v

T T 9 e ST F7

Only general instructions/guidance is being provided to the Chief-Examiners/Sub-
Examiners to evaluate the answer sheets or if there is any error in the evaluation
instructions or the answer is not clear or any other occurs, the examiner, after
discussing with the chief examiner, evaluates that question according to his
discretion.

T T H T 38 T 1 T T FeA AL AW H [AAF ¢ |

There are total 38 questions in the question paper. The question paper is divided
into total four parts.

AW 1 § 7 G701 7 20 T F T ATHA &, =1 T 1-1 FF F 2 |

Section A consists of questions up to serial number 01 and 20, each questions is
carrying 1 mark .




13.

14.

15.

AN 2 § %9 |67 21 ¥ 29 9% & WF AaUHd g, a9 W 2-2 % & g |’ wy afa

TS LT &, ST ATeHad 30 el 7 ATF T 2 |

Section B consists of questions from serial number 21 to 29, all questions are of 2
marks each, all questions are very short answer type, answer should not exceed
the maximum limit 30 words.

AT 3 # % &&aT 30 & 35 T & W A &, T T 4-4 3i & g qef1 T TLSTLAS &,
IAT AR 80 9raat & T A7 2l |

Section C includes questions from serial number 30 to 35, all questions are of 4
marks each, all questions are short answer type, answer should not exceed limit
maximum 80 words.

AT 4 & FF F&47 36 7 38 T & T ATHA &, THT 57 6 -6 3i%h % § T 77 <15 ITrcH®
g, IO Afrway 200 eTsal & ATAF AT 2T, T /. 36 T I AT T Tgraar § far e g

Section D consists of questions from serial number 36 to 38, all questions carry 6
marks each, all questions are long answer type, answer should not exceed limit 200
words, question no. 36 is to be answered with the help of the passage.

T 9. LR EED
AT -1
Section- A
THTSTITE % ST ANTET Fid HT STATHA & 2 1

(31) 1789 - 1857
() 1757 - 1889
(71) 1857 - 1979

(3) 1785 - 1855

What is the lifespan of August Comte, the father of sociology?
(a) 1789 - 1857
(b) 1757 - 1889
(c) 1857 - 1979
(d) 1785 - 1855

I | () 1789 - 1857

(a) 1789 - 1857




TR Tl T g AT I9T AT ?

(1) \TEq

() T

() wi

(%) sTATEH

Which country was the centre of the Industrial Revolution?
(a) India

(b) England

(c) France
(d) America

@) T
(b) England

1948 H TTHIRT A T LTI FoheTeh gIT FohT 1247 2
() B . s

() ZEta

() AT T

(%) TH.UA, fifFar

Who studied Rampura village in 1948?

(a) D.P. Mukherjee

(b) Durkheim

(c) Charles Cooley
(d) M.N. Srinivas

(%) To.uA. shffam
(d) M.N. Srinivas

Khasi is @....cccvvevevereenneee. ?

ST
Tribe




9TT<h T Y TF&T FAT G ?
CIREIRIEEC]

() &7
(F) AITEATHF TRATE
(7) TS

What is the legitimate form of power?
(a) political party

(b) power

(c) Matriarchal family

(d) sovereignty

() g
(b) power

T it a8 ST SaH SATIFR &l T e, eI
&1 foeere et & 2

That structure of the family in which authority and dominance rests
with...........] is called patriarchy ?

forraryFR M AT g ?
EIERENRED
(F) AATTATIE
(&) TS
GEEEEE

Which of the following is the type of education?
(a) formal

(b) informal

(c) political

(d) Both Aand B

SEEEREI
(d) Both Aand B




FAT T ST Y ?
Jgaareg =ATh &l UF G0 | TF I AT Tl i FIAa e Far g

Correct the statement?

Polygamy restricts a person to one spouse at a time.

Jgfadarg SATh oI T 997 § TF I AT TAT Dl TTAS 12T Tl Hwear
g

Polygamy does not restrict a person to one spouse at a time.

AT HEh d T SETeLW M § H T8I § 2
CIREEIES

CIRIERIL
(=) a4
S REEIE]

Which of the following is not an example of non-material culture?
(a) thought

(b) emotions

(c) religion

(d) book

GRETIE]
(d) book

10

FAT FHT ST FY -
T ILFILT gLt AT § G ST g

Correct the statement -

Small tradition is found in urban societies.

Y T AT TR A Iy STt € |

Small traditions are found in rural societies.

11

ATATET F TF HeeT Tl ATTHA FLA qTAT U ATIH

A comprehensive survey that includes every member of the
population is called........................ ?

STAIOTAT

census




12

=T FT TH | & Fa71 8 ?
CIRIRIEES
() TATaF
I RECIRET
SEERS:

Which of the following is the type of Data ?
(@) primary

(b) tertiary

(c) secondary

(D)Aand C

GEERS:]
(D)AandC

13

g ATATIST TE( [STee ST 9T AT S aHg! ®l 37 a7 95

gfeafa It BT 8, FgATdl § ?
AT TEHL0T / ATAT JeaT

The social system on the basis of which individuals and groups get
higher or lower status is called ?
Social Stratification/Social Structure

QTS T

Social Stratification

14

HTF o 0 ! TH{d, SCATE 6 ATLAT F TTHD] il SETH AT Rl

FETE?
FATT / W

What did Marx call the indifference of workers towards the nature
of work and the means of production?
Alienation / conflict

SRRIE]

Alienation




15

T STTT ol ST ohee & o ?
(1) TTHTEATHT

@) A=

() gfem

(=) AT

Who gave the concept of Dominant caste?

(a) Ramaswami
(b) Srinivas
(c) Durkheim

(d) Marx

@) shffam

(b) Srinivas

16

2011 T STARTOATIHTE AT i fohaet Sfqerd STeeaT Tiaf o
A #xdt g ?

(1) 68.84

(@) 31.6

(/) 78.74

(7) 36.78

According to the 2011 census, what percentage of India's population
lives in Rural area ?

(a) 68.84

(b)31.6

(c) 78.74

(d) 36.78

(1) 68. 84
(a) 68.84




17

=raeht sfeara fore g | geafvad g ?
(31) TSTEAT
() Efamm
() STTEE

(%) o1

Chipko movement is related to which state?

(a) Rajasthan
(b) Haryana
(c) Uttarakhand

(d) Gujarat

(/) SaTET

(c) uttarakhand

18

o= Y a8 omET ST wTHE A FT ATIHRT /S AT o TR T
TETAT FLAT &, FeATA & 2

The branch of science which studies the type of human race by
measuring the human body is called?

CIGEACRIC]
Anthropology

19

T TAHET BT AT AT ATSE T80 o @h hid g ?
(3T) T HTFH

() 7ET

CGIREGKEERS

(%) Tt

Who is the author of the book 'The Elementary Forms of the
Religious Life?

(a) Karl Marx

(b) Merton

(c) Max Weber

(d) Durkheim

(%) Tt

(d) Durkheim




20 | SrStTraET & fUeE Ry e #er g ? 1
(&) Str.uH. g
(F) TAR. AT
(%) ST, Tt
(%) TH.UA. fifFame
Who called the tribes backward Hindus?
(a) G. S. Ghurye
(b) A.R. Desai
(c) D.P. Mookerjee
(d) M.N. Srinivas
ST | () sfrue. giRa
(a) G. S. Ghurye
W - 2
Section - B
21 | ATHISTT AT FAT ] ? 2
What is empirical investigation ?
ST | AT TeAa & T T U S F it S aredt aeaae s
AT AT FgATdt §
Factual investigation conducted in a given area of social study
is called empirical investigation.
22 | T ¥ AT QT § 7 IETEW AT Farsy | 1+1
What is meant by role? Explain with examples.
AT
ftT Toe T § 2 SSTEIr afed Tarey |
What is role conflict? Explain with examples.
ST | sfeeRT TiRufa #T AT T8 § ST SARe Y TRuta % SgEa 1+1

ATt St § o sterex U wiRat & T 01 1 9T w7
St it AT

Role is the dynamic aspect of status which a person has to perform
according to the status, like doctor is a status and treating patients
is the role of the doctor.




23

THTES TETH & ATHTC & AT § ?

What is religion according to Emile Durkheim?

AT SEI ¥ AR " o aRe Teqet @ e s fraret
s feramE i SFagr i TE Ut SRrisT sqaeT § S sAfeat
&l TF AT T i AT F Figdt g S SHr Tw A s
AT Tl ATHAH FLd gl1"

According to Emile Durkheim, "Religion is an organized system of
beliefs and practices related to sacred things that binds individuals

in a sense of a moral community who express similar beliefs and
practices."

24

greTerte fAfer fir :2 < e e

Write any two types of interview method.

1+1

1. R GTEATEHI - TH THIL & ATEATHIC § Hael QT SAT<h ATEHAT
SR FEATETAT g1 gl =9 Aty % g arafas e axear &
e STl 2

2. GTHfRF ATEATEHIY - TH THIL F HTEATHL H Toh AT STAF |rearehat
Tk AT § THET & 81 =T THAT L 5l

3. WoAE HTEThL- 36 fAfer & qrerrasral S gEamarar area-are
TTT € & FTATATT Fd 3

(S +ft ¥ THFR)

1. Personal Interview — In this type of interview only two persons
are the researcher and the informant. Through this method real
information is easily obtained.

2. Group interview - In this type of interview, one or more
interviewers collect information related to the problem from
many informants.

3. Direct Interview- In this method the interviewer and the
informant talk directly face to face.

(any two types)
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AT AT ¢ ? AU AR 3 AT H T

What is observation? Explain about non participant observation.
AT

HAATH AT g ? AGHAGHTT STAATRT % T & T8

What is observation? Explain about quasi participant observation.

1+1

HAAHT — T TET e HY f&¥fdr Sy sivereat By qem 0
SEAAT TAT AT HT THATHLIT AT Tl TAH €F F T@HT F AT

gl
FAGATIT sraerra / fAdreror

FAGATT FATATHT |, ATHLTTHAT TG T T HT, et it 39
TEAAT HAT §, MO TH T g it qifd IAqTF AT &
AT g

Observation — A method of research in which the researcher
studies an event and collects information by directly observing the
event.

Non-participant observation-

In non-participant observation, the researcher observes the group
or community he has to study in a scientific manner, like a neutral
observer.
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TRARaT =T R |

What is Competition ?

GELED I

What is Conflict?




ST | wiaaar / sfaert - a5 et s et o § ad safte gx 2
Tl THATT gATC TaAT A T@AT ATaAT 3l Ig ARKIT ST § draar
FAT gl I A< o areft T4t gl
Ig AT AT g e s=ata & a1 At ARl &1 TF & aeg
T YT LA o Forg 3T /@ s )
Competition / Competition - This is a universal and natural action in
which a person wants to move forward without harming others. It helps
in personal progress. This is a continuous process.
It is a social process in which two or more people make efforts to
achieve the same thing.
27 |SesmFTE? 2
What is evolution?
s | Sfewm Aea ta it 7 & aRads & o afear @ - Sewa & 2
TR e 2T 2, g 78 Tt et R & S & o ol
T @ ITAT TFAT Tl 2IaT |
Stawm e it us v § - Sfeem % W ste semE
Tl & At ot & fAfear d=r it 2
Evolution is a process of continuous and slow change - In
evolution, change occurs continuously, but it occurs so slowly that
it is not possible to see the change.
Evolution is a process of differentiation - during evolution,
diversity arises in different parts of an organism or society.
28 | Areemst ST HY S & RFATATT AT 1+1
Mention any two features of bureaucratic system.
3T 1. sfE=RE & T 1
2. &l & s w
3. forfera swarastt it swforeRaT 1
4. FEAAT H TGEGT

(1S oft @)

Functions of rights

Sequential order of posts
Authenticity of written documents
Office Management

PWNR

(any two)
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T § T AT § 7

What do you understand by tradition?

T AT AT GHTST % Toh G9g 5 W< T ohreas o1 A1 i §

¢ Ry Age TEn ar Rt a1 SEgit w1 wgd §) R
T auf e ST o AR g et §)

T 39 wrearen At Gfa-Ramst @ oft defiia w5 awdt g s

THfRETRT € @5 g8 1 ©EET SO F q1, JAIe Fe
sfitaea § § 9@ &7 ¥ fa=r et @ yorredt it srasgewar F
TR S Hifs &9 & qria &R Srar ar )

Tradition refers to beliefs or behaviors that have symbolic meaning
or have a special significance in the past within a group of people
or society. Traditions can form and develop over thousands of
years.

Tradition can also refer to beliefs or customs that are
prehistoric, with lost or mysterious origins, having existed since
time immemorial. Originally traditions were passed down orally
without the need for any writing system.

AErT-3
Section - C
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AT § TATSIATE F AEAIT Hit S, AT MALIFATT AT 2
Mention any four requirements of studying sociology in India?

SEELE

QTSI & S+ q e #§ 9gdit SE qeATsi HT qud S |

Describe the major events that contributed to the birth and

development of sociology?

1+1+1+1




2.
3.

4.

A # A &§F9E, ANERE, 99eEdE, SR i
THETS FT Tat T § A F o U STeqqT
AT §

TEY GHTSAT § TAATHT AT g

AT TASHwaT % a1 & 94T 0 &g

AT TIRET TAT ATATIO e &l G0 8q

Sociological study is necessary to properly solve the
problems of regionalism, linguism, communalism, casteism
etc. prevalent in India.

For comparative study with other societies.

To find out about social mobility.
To understand social change and social institutions
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AT THTSIT il STFATEAT it HEea YUl TALATATY I DT § 2
Seg i

What are the important features of the economy of modern
societies?

49T

TTHYOT FHTSI T SrefeqaeT it Agcaqul [Ar9dqTd HF HITEt § ?
IeE Hiforg)

What are the important features of the economy of Rural
societies?

1+1+1+1




AT THTSI it srefeqaeT it 3% Agea Ul [AA9aTy &
- TIET Sfew 59 # e
- & % T | IRadT
- SN Nl § R
- gSfgfar SErRmfaT & S
- fafers =1 % st A
- e I FHTAT T fAreror
- ST T STATSHAT TETAT AT ATATHT FATT T@AT
- TLEUR AAAAEIT HT FHIHG A
(@< oft =Y

There are several important features of the economy of modern
societies:

- highly complex division of labour

- Change in place of work

- Developments in industrial technology

- Factories of capitalist industrialists

- Salary according to specific work

- Inspection of works by the manager

- Increasing worker productivity and maintaining discipline

- Unlimited expansion of the interconnected economy

(any Four)

[ N U U N
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FHTSHROT fahdel g & 2 AHTSHHTOT & THE S THHTOT Farsy |

What is socialization? Mention the main agencies of socialization.

1+3




AT a8 Ifar & oas a0 a9 &7 999 991 died 8l I8
Stramie e areft g &)
FHATSITHTI TG ATHHLT -

- gREr

- guwy, 9z A A fer aag

- =

- ST

HTSHRLOT 6 IfAT T Sfewr afar g, Sad s deame ar
TSR T TSI AT § THTSHHTT o TG ATHHRIT 56 THI g

. IRER - GHTSHRTT FTA qIAT GEAT AT ATHEHT & €7 § ITRAR
T AT qTEqd A SAATHTIOT Bl TFT Tgo TR A S+ AT g, 3T
TH &7 H g TRATC T 93qdT AT FLav gl

2. qHHE, g A= a1 T 99 qgi ® A A1 I 919 @A a1
e N TF Aeaget TUfE wE a9 81 @ SR Syt
FHTSITHRTUT it TTHAT H ST AT THTILTAT ST FIaT gl

3. faeme : faeT tE TR W9eq g1 Sfia=TE ITsTRe &
T g1 HI @ F T $ STeqer I ot grar gl

4. I HTEAH : I ATEAH GHTL (A T T AAAT (G641 a9 I g

TAFEITA ATEAH Sl FEOT ATEAHT T Tged HT ATATE TT g 5

ST HTEAHT % GIRT AT SATQT ATRATH & & qg=Te ST gt gl

[

Socialization is the process by which one learns to become a member of
society. This is a life long process.
Major agencies of socialization -

- Family
- peer group, friend group or play group
- School

- Public medium

1. Family — The importance of family as a socializing institution or agency
is truly extraordinary. The child is first born into a family, and as such he
assumes membership of the family.

2. Peer, group friends or play group: Children's friends or play groups are
also an important primary group. For this reason, they have a very
influential place in the process of socialization of children.

3. School: School is a formal organization. Along with the formal
curriculum, there is also some indirect curriculum to teach the children.

4. Mass media: Mass media have become an essential part of our daily

life. The importance of electronic medium and print medium also
remains constant. Information can be delivered in a more democratic
manner through mass media.
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¥ T i T g 7 TAta<or W TG T AT |

What is global warming? Explain the main types of environmental pollution.

+3




A% qraE giE - afas I FhE F FRT FART TI1a0 IdqE Tde
2T AT 8, gt T aTaHT fadiied aedr o1 ¥ g o stfae Tt gt
ST &l 8, fSrEe F1r eat it o foree onft 8 S At F Saea?
H TRy FT & g AT % TR a8 A9 AR T G906 g A qeer

I I ATeAT

HET T -
o AT
o ST
o i
o et T
o TTHIY YU

o ATY YU - I TAT ATEHAL & AT ATAT STGLIAT T TAT TG
ITANT F o0 T q9T FrF 7 AT

o STET TEUT S ATTerAt, Herdt H fshersr arer =2ef qared, Afeat qo
STATIT H qZTAT TAT =T Fohe STAAT

o AT YU ATSSEAIHY, ATGAT o I+, ATATATA  ATeAT FT MY,
HATISIT F 1T 9 et arett Sast, 929 &M

o W YU EAT H AT AT, THATAF @TEl T T, TZ
FET e, HIALST, TSITET AUT | THII S Tar4T &7 Het § e

o TTHTI[ YU - TTHTI TEEAT & ety arett ot

Global warming - Due to global temperature increase, our
environment has turned upside down, the temperature of the earth is
increasing day by day due to which there is more heat, due to which
the ice of the poles has started melting, which has increased the
water level of the oceans along the seas. The problem of drowning

of many inhabited cities and islands is going to arise .

main types —

e air pollution
Water Pollution
land pollution
Noise pollution
atom pollution




34

TS T2 F4T § ? TEI % AgaT< AT Tad qradqdl TahaT 3 a3
qHATY |

What is social fact? According to Durkheim, explain the difference
between mechanical and organic unity.

+3




AHISE T - (social facts) SH HeAl, AIEHAH AEHI )norms),

TAT FTHTISTR HCAATSA HT Fgd g ST A<k I TRATAT FLd g T I
ST AT aeee TEATTIT F2d &l

TETH ATHTSE T2 A UF UAT G2F A 8, 7 a&q+=8 gl g, Y
ot e g a9t aeq F = § w¥ a9 g1 TAfT a2 A
T ¥, UF AT, TF AT T2 % &9 § @7 g 3 o T uF A@ifas
T FT AT AITaent § a7 STaT 8, SHT TR FT 7T AT
TTHTISTR T2 T TETTT Fd g

1. T3 THAT — A1 Tk srfey waTsit § srerar aear i wepia A1
38 & U= gu quTsil § qrT STt 81 37 SIS § (A S iwmor i Frat
T Traeor 7 % ITET AT § T9T Hae o6 3T o % ST 9% gf F1a1 §
?ﬁ.?T-E@T'T faradeeor amT STar gl wﬁ%m AT (Collective conscience)
T, SR UF-gEY A 2 TEd @ a7 39 "rq{ed FqAT H S410 T T
a¥ft e AIHT TXH FAA AIEA. g1 T THAT 9g UHaT g S R
SARIT GTT U ST ATAT 6 HILT AT &1 SAAT] ST 9= (Likeness) T
TR § T8 TF 93 T il UHAT § ST AR FIGF FIT a970 L&l
ST B

2. QTATET THAT — ATGT4T U saaraara F FwfAa gt g1 o
THE ST STH-TAATS g1 Tg UHaT ST THTS il T@ &erar it
STt 81 @ FT FgdT § FoF SE-S8 GHTS 0 SHEeT F1 g9 a7
AT FAT AT § AH-99 ATHRIT 6T Araeqhard ff agdt St g1 =
TEAT g2 AAAFHATAL F FIL0T SAHAT 6 HAT H (Haar At g ToqT 2895
qrT gt A0 fAehieor sEar § d9iq A9-faarse & s I 81 39
THAT &I, ST 6wt 6 forear gy e (sratq sw-fEreme) §iw
TEH TOTHETET SRIT T ST o FT0 AT 8, T draaar
T FEd &1 Ha=l THT 67 I AL g 1 el 2

o FIF®F UHKAT THIAATS UL SMATRA Bt g, &k draaer
AT STAT AH-[AATAT I AT BT Bl

o FI(AF THRAT HIA THTS | ITAT AT g, A&k AT TahdT
A FATSI T THE T

o AT THAT FAIC T § FHART FTLA HT TG FrAHT ST 2,
STateR ATaAET THAT I4TC @ § ATdqZaH FIgA 6|

o FITAF UHAT FT VTET WSTHF gIdT g, Tash dATaT=r THAT FHT

GRIETT

T UFHdT STHEEAT & AT €9 § F7 o arel qTATS §

AT SATAT €, STEfh ATaTET UhAT STAEedT H§ g il Sl



https://hi.wikipedia.org/wiki/%E0%A4%B8%E0%A4%BE%E0%A4%AE%E0%A4%BE%E0%A4%9C%E0%A4%BF%E0%A4%95_%E0%A4%B8%E0%A4%82%E0%A4%B0%E0%A4%9A%E0%A4%A8%E0%A4%BE
https://hi.wikipedia.org/wiki/%E0%A4%AD%E0%A5%8C%E0%A4%A4%E0%A4%BF%E0%A4%95_%E0%A4%B6%E0%A4%BE%E0%A4%B8%E0%A5%8D%E0%A4%A4%E0%A5%8D%E0%A4%B0
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T3, IS ATHT FHATIH TS it TG FAwqrett &1 Foi <

According to Desai, describe the main features of a welfare state.

FETITHI TSF Y frwand :

FHTURTA T TF THILHS T grav gl
FTIHT ST FaA ~JATH HTA &t gl HQAT ST BT qAqT
SEEAT T TATC T & (AT Aa9TF g 3
Tg TG TSF BT § R 9 A Sgad F g
AT AAAT 1 AR FA F forg st sriReat 1 s
FLAT B
g T AEai = T gidl gl
AT st T AT I9T Bt &l
=Tl Arqitas qedrell qguel 9ara fakear aast
ST &1
Tt srferaeT At )
Al sreferaem Wt stieraeT g Ster s defard
HFAFRAT TAT TST AT AT FIH FLAT B
FATITERI ST 7 AT YoMaTal ST &l @eH FEar g i<
B I SaT HY [ F F THaT &

(FrE A= F1 9017)

Features of welfare state:

A welfare state is a positive state.

The welfare state does not merely perform the minimum
functions that are necessary to maintain law and order.

It is an interventionist state and uses its powers to
implement social policies for the betterment of the society.
It is an essential condition of democracy.

Formal democratic institutions are considered to be
characterized by multi-party elections.

Its economy is mixed.

Mixed economy is an economy where both private
capitalist companies and the state work together.

The welfare state neither eliminates the capitalist market
nor does it prevent the public from investing.

(Describe any four)

[ N (. U N
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T AT 36 ¥ 38 el STUUHS g TAHT Todiad qerd a9 & faa® &
STET I HX -

Question numbers 36 to 38 are long answer type and should be
evaluated at the discretion of the examiner.
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T ¥ft Ty e &9 Wi 19 € T Y wA €9 & wgEy T)t
B0 5l TS TYE AT SaH & s T&Il H TATAT FLd § Sl gd gad &
Fafre ATgad § ATd g1 "ITAAT 99g' § a7 AN § UF S aqg 4§
ST 9RE, AWA-AHT F AA-FET i 989 T R g 81 e
TG & gaeq] § THh-gas o Gafad giv it ATaT gidl gl TRAT, I i
=t % Teg wreAE gl ST

oo aE S § SeTHd 93 i & S ITH =T T
FAafed Gy gra 1 Srafie ayg = S@ gia 8, wia i fadias ag
we 3@ faerer, qrd wrate, srerard, s e ot fedes avggt
& IIEL &

IO IR 3R FF Sitaq Hit 9 g i agdt sfaq /@
S+ fAfSw il |94l ik Staa-9eft F A 9% qoar F 4T HT
= el qaTSTeTREt F W@ d AT o AT g1 9HE ¥ qredd 59
AT 9ael & § ST 9ga Afed 3aies, 7y s Rreewrft g §, S|t
TF Ah hf WEE 99 A= e & uisa 998 § 9o g IRaK
fSraeft 7= g wEmagl BT &)

ATST AT G F qId g€ a<g 9 99arT & Audq g faQwa:
e AT S F T Faqihs, A i< STl Heen| arforsy
#IT IR it AGIHaAT I8 § 6 T e F7 FAagR @ e § 9971-
g, FeET T S Rt F SgE q g TE-gEl A S A o
FL SAYAT GHATAT FLA g1 AT FHI S ATAMAF qHg &l GA q19
qHd & Sl 99 9 fadias g i g9qed 919 99d g

T8 g 6 WTEAT 3(d: TYE Hl I STl gl Ig WTaAT g
T H I IR AYAT T F FAT FAT Bl T TheA § UgA a1 9, S A
¥ TE UBT T I F (%G TF I YU T A 31 FT A9 Y ey
R AR F R F A T § @ QAT UF a0 w0 9w A @
S ©@ s g F 997 Gafdq T8 qrdl TF 91g] 9Hg b el B
3 IYE & GaEdl At A F WAGHe GG FT ATHAT FAT I8 THaT g
AT & AFAT ST THE AT SITar gl gt qgi o #1 gaiaa §
A ®IF GETq Gl il areqras GIRNTHT G0 S GTATOG &A1 & iy
T gt gl

st g e wga g ?
I TG ?
;G T IgAT ¥ Tl 5 ?
T &l T SHTT AT ST 9T g ?
TR[ Y F S
I

o u ke wNPR
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Not all the groups to which we belong are equally important to us. Some
groups influence many aspects of our lives and bring us into personal
association with others. 'Primary group' refers to a small group of people
who are linked by close, face-to-face interaction and cooperation.
Members of primary groups have a sense of belonging to each other.
Family, village and group of friends are examples of primary groups.

Secondary groups are relatively larger in size and have formal and
impersonal relationships. Primary groups are person oriented, while
secondary groups are goal oriented. Schools, government offices,
hospitals, student unions etc. are examples of secondary groups.

The idea of comparing the old traditional and agrarian life with
the new modern and urban life on the basis of their different social
relations and life-styles leads to the writings of classical sociologists.
Community refers to those human relationships that are highly personal,
intimate and enduring, where a person's participation in true friends or a
close-knit group, although not as important as a family, is important.

The meaning of society or association is in every way the opposite of
community, especially the obviously impersonal, external and temporary
relations of modern urban life. The need of commerce and industry is that
the behavior of one person with another should be measured, rational and
according to personal interests. Instead of getting to know each other, we
make agreements or compromises. You can consider community and
primary group as equivalent and association and secondary group as
equivalent.

The feeling of belonging creates in-group identity. This feeling
separates us or us from them or them. Children studying in a school may
form an in-group against children not studying in that school. Can you
think of any other such groups? In contrast, an outgroup is one to which
members of an ingroup do not belong. Members of an out-group may face
adverse behavior from in-group members. Immigrants are often
considered an out-group. However, here too the actual definition of who
does and does not belong varies over time and social contexts.

1. What is called primary group?

2. What is community?

3. How is in-group identity formed?

4. What can the Sangh be considered similar to?
5. Give examples of outgroup?

6. What can the community be considered equal to?

B N Y. T N N N




1. ITafE ag § s AR & TF e 9Yg § § S 9, S[ee-
A F AA-TAATT i Tgq 0T g7 2 8l &

2. US| AHd ST WG L | § S qgd AT AR, TS

T et g €, S8l uw |fe & writerd ag A=t stear

T GTeT Tg & e EF TR foraet et g Fgergel gl €

e g1 T WTAAT Si: THG hl TZATT ST B

IEURERE D

SHEHT TRAT, SHHT ST, IAHT & G5

T 998 &

A

1. 'Primary group' means a small group of people who are linked by
close, face-to-face interaction and cooperation.

2. Community refers to those human relationships that are highly

personal, intimate and enduring, where a person's participation in

true friends or a close-knit group, though not as important as a

family, is important.

Feeling of belonging creates in-group identity.

Secondary group

His family, his kingdom, his sports team

. Primary group

ov AW
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TEANT fohl g & ? 9 fasmeir & a=mey |
roraT
feroqoft ¢ -
1. HEIN ST Ha9
2. I U gy TRAr
3. A

What is cooperation? Explain division of labour.
Or
Make a comment -
1. Cooperation and conflict
2. Mechanical and organic unity
3. Capitalism

2+2+2




TSI : 9T S2¢d Hit wifa & forg feree B S aiRarfas
FAT § g derAr, Uy fRAufxy § S9ar &7 awR &t a0 34m)

TEANT T =91 4199 SFAgR il g ATAATS I SETRA §
* AT o AN & o1 19 STfa & o stfeaea s g e
* A 6T gWAT § ot W GgINT & THI 3@ Tahd &

FETEH & AT, THAT GHTS & A a9 g, TAT g 984T i< 9
TG ST 36 wohrat it o & forg giRard s @)

g7 e - it st tew Ry gry ger it S o 5w wr e
FT o (AWTS & afvd Far g, Srad T8« =afe Scared IHaT & TF
fafers wIT o s S FAT §1 T qEa: 1776 § €= A F U
& "T AT A AGE § TLT AT

et 8 F1F T - THEITT gHST | TledhhT g< TN H HLA &
o serT-srar @nr RyiRa @ S § 9F 9 Division of labour
7 fAfArSIT (salization) Fgd 81 FH Ao 98 1 & F900 Tﬁﬁ T

H 9gEs grar gl Yer¥e € 9 gH-Asee AR #@ giy, v
ASEYE T Ihg, GoATE T ST TAT SETRITHTOT i STTeAdr # i & JET
QT gl Isha grad -6 - asr e yeavas & @< a& o
TgATl A TR 9T Ig SESQ-g919 § Sas srasr-srent wnr -
FH A 8l G- FE AN FA I § A TS AT gAdrs Hd
B ST T FUITSH AT GAd: SH-TAATSI T &7 €7 5

Cooperation: Work done together to achieve a common objective, such
as helping in family work, people supporting the government in times of
national distress.

The idea of cooperation is based on some assumptions of human
behavior:

* Without the cooperation of humans, survival will become difficult for
mankind.

* We can see evidence of cooperation in the animal world also.

According to Durkheim, solidarity is the moral force of society, and
it is fundamental to understanding cooperation and thus the functioning
of society.

The concept of division of labor was introduced by Adam Smith. Division
of labor refers to the division of task
specific part of the production
Smith in 1776 in his be



https://hi.wikipedia.org/wiki/%E0%A4%B5%E0%A4%BF%E0%A4%B6%E0%A4%BF%E0%A4%B7%E0%A5%8D%E0%A4%9F%E0%A5%80%E0%A4%95%E0%A4%B0%E0%A4%A3
https://hi.wikipedia.org/wiki/%E0%A4%AA%E0%A5%82%E0%A4%82%E0%A4%9C%E0%A5%80%E0%A4%B5%E0%A4%BE%E0%A4%A6
https://hi.wikipedia.org/wiki/%E0%A4%94%E0%A4%A6%E0%A5%8D%E0%A4%AF%E0%A5%8B%E0%A4%97%E0%A5%80%E0%A4%95%E0%A4%B0%E0%A4%A3
https://hi.wikipedia.org/wiki/%E0%A4%B5%E0%A5%88%E0%A4%9C%E0%A5%8D%E0%A4%9E%E0%A4%BE%E0%A4%A8%E0%A4%BF%E0%A4%95_%E0%A4%AA%E0%A5%8D%E0%A4%B0%E0%A4%AC%E0%A4%A8%E0%A5%8D%E0%A4%A7%E0%A4%A8
https://hi.wikipedia.org/wiki/%E0%A4%AD%E0%A4%BE%E0%A4%B0%E0%A4%A4
https://hi.wikipedia.org/wiki/%E0%A4%B9%E0%A4%BF%E0%A4%A8%E0%A5%8D%E0%A4%A6%E0%A5%82_%E0%A4%B5%E0%A4%B0%E0%A5%8D%E0%A4%A3_%E0%A4%B5%E0%A5%8D%E0%A4%AF%E0%A4%B5%E0%A4%B8%E0%A5%8D%E0%A4%A5%E0%A4%BE
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T AT T IS SAGedT TAT SH G TATIOGR TREdAT 1 a0
Eadl

eaT
feoqoft % -

1. wiggife

2. HEEHT

3. T G

Describe the social system of urban areas and the social changes taking
place in it.
Or
Make a comment -
1. Mass transit
2. Ghettoization
3. Gated Community

2 +4

2+2+2




TG quTe - 59 9 &7 § ATt e i F1Y a8 et

Iurfora

Fa & aar e S sirorferar sfaeugt qur fdfas gt

T THTAT BT §, SHT T T THIS gl STAT§ |

T 7 3R gt 9REde

T TR AGATET il G ad A1 IIGL- ST T I 3
FETMET & T a8 I =R it g & o ff Rufa & 4

gTfH® I S ToeA™ A ASHY, STATRLT § vy Afeh
v &

SHEEAT FT HA AT giv o Fofaied a9 e gidt § -
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Urban Society - The large area in which most of the people earn
livelihood from non-agricultural occupations and among which formality,
competition and secondary relations predominate, is called urban

society.

Urban areas and social change:

Ancient cities supported the economy. Example: The cities which
were situated on the banks of ports and harbors were in a
profitable position from the point of view of trade.

Religious places like Ajmer in Rajasthan.and Varanasi in Uttar
Pradesh were more famo

Due to high densi

immigrati







	Sociology (Model Paper).pdf (p.1-13)
	Sociology (Marking Scheme).pdf (p.14-43)

